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The product of two consecutive odd integers is 99, Find the integers,

a) Write the equation that you are trying tosolve. R [ K + _1_)_,_:, oﬁ S
b) Solve the equation by factoring. x*+2x—-99 =o
Tra inteoors CoUd be: (x+1)(x-9) =¢
9 amd ) ! 188

% 2
The height of a rocket launched upward from a +&efoot cliff is modeled by fi =161 + 48¢ ++8r,where 4 is
the height in feet and ¢ is the time in seconds. The rocket landed in 4 tree, 28 feet off the ground.

a) Write the equation that you are trying to solve. B = —bt*+ 4Bt +i88
b) Solve the equation by factoring. oL *-48t— 10 =0
lo(A+=3F —10) =0
Tre vodet wodd \b{_t"‘lﬁ\}tt‘“ﬁ-) =0

lo_wi W "'\"I'\.l- m __;__u
5 Satonds ofer T 1 o) ———l-‘t- -

e wos  loomd "

The length of a rectangle exceeds its width by 4 inches. Find the dimensions of the rectangle this describes.

Its area is 96 square inches. i
a) Draw a picture. W‘ A= Lxw

b) Write the equation that you are trying to sn.!vc. qb =W (\N * 4)
¢) Solve the equation by factoring. O=w"t +4W -96
width = B inokes O= (w +12)(w-8)
= = w7 -\l ' W ZEE

Robert threw a rock off a bridge into the river. The distance from the rock to the river is modeled by the
equation 1 =—16¢% —16¢ + 60, where J is the height in feet and ¢ is the time in seconds. Find how long it took
the rock to hit the surface of the water.

a) Write the eguation that you are trying to solve. 0= -lbk v -t t bo
b) Solve the equation by factoring, 0= - 4 (4\'. adt —| 'E))
The wock Wit dhe woker 0= -4 (2£ -2t +5)

& sec ofter Roberl 6——————-—-._{=§£. 12

Trons Y, (e6)



13, 2% -13x=—40
SO-13x HHo =

-3 Jx-%) "o
x=¥, 5

v Verify your solution(s):

4. 3z +10x+8=0 15, 8x246x-5=0
(B3t )(ek2) (M{:;x_;) 2o
[ ¥, <, K

¥ Verify ;vour solution(s): ¥ Verify your solution(s):

a
(3) I3 3( g ) Hlo(-4)+3 8(-%) +4(%
64 = /oy = G v.a5
o p L
EP-x5 Ths yzor o oE s
- - =L
25~ 65 = Yo 3(-2) +h?(-aj ¥y = oY 9[%)0*“{‘:) s
16, 5x% 411x=-2 17. 2x%-15x=8 ?G[l) .
SatHlle +23 7O Ax*-(5x -8 ~© >4+ 3 -8 T °©
(5x+ Nt 2) =0 CY“;Q(;: &) o
K'-'_/S’Ja} 7 f?f“ "/.,LJ, _.;
1 ¥ Verify your solution{s): v Verify :)Lou: solution(s):
5;}{_) T H(’ %) ’f;‘ :13(( ;; -*’5?‘*) Section 5.2B
- + - — )
:3"‘;2: e o Lo+ &t -
pEv | = -
3% 4 11(->-) ¥ ﬂ(’i?)
3(%)—9{:»- > TOT ;(}-Qs’—i}u =
5.2 1 CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-12

APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEKT,
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